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All work must be shown to receive credit.

1. (10 points) Elemental sulfur is oxidized by nitric acid to yield sulfur dioxide and nitric oxide according to the following balanced chemical reaction.  If 50.00 grams of sulfur is reacted with 75.00 grams of nitric acid, determine the mass of SO2 produced.  Also tell which reagent is present in excess and how many grams are left over.  Use an I, (, E diagram to solve the problem.

3 S  +  4 HNO3  (  3 SO2  +  4 NO

Mass SO2 produced____________________

Excess reagent __________________    Mass remaining________________

2. (5 points) Calculate the volume (in mL) of a 0.352 M NaOH solution that is needed to react completely with 0.278 g of acetic acid, HC2H3O2.

3. (5 points) What is the empirical formula of a compound containing only platinum and chlorine that is 26.7% Cl?

